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et araan wher

SCHOLASTIC APTITUDE TEST
39 UE-UT H T 100 99 & | WAS WY UF 3 B T

THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

( Wi famm )

( Physics )

1. 7 7, a6 T W R A, BT C mw&a%&r&aﬁ%aﬁ%i]

BC
SNGETO |
i) fereemat @ a’T 00

(3) TR 4) HAT | \Q
If work, force and time are represented by A, B an % ely then the term

-‘ﬂ- will present
BC P

(1) displacement

(3) acceleration . (4) en
2, %ﬁwmmﬁmlom/s%.t awﬁnﬁr?ﬁﬂ%ﬁzsqsam
T §RT F Y T g &
(1) 6m 18rn
(3) 22m 28 m.

The mltlal velocity of a pagz is 10 m/s. It is moving with an acceleration of

4 m/s . The distance by the particle after 2s is
() 6&m \ (2)  18m

3) (4) 28 m.
3.  Eb® % (G) FATHE

m 2 N-m?/kg?
3) _ (4)  N-m/kg?.
Unit of universal gravitational constant is
(1) Nm?/kg (@ N-m?/kg?

. (3 N-kg?/m? (4  N-m/kg?.

4. U GOTH A1 350 m/s A1 ARG 100 em &, T T B G B

(1) 35Hz . (2) 350Hz

" (3) 700Hz (4) 3500 Hz.

If the speed of wave is 350 m/s and its wavelength is 100 c¢m then the frequency
of the wave will be ,

(1) 35Hz (2) 350 Hz

(3) 700 Hz (4) 3500 Hz.
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SAT-2 : (4)

(1) P a () = A

(3) TR AT (4) W fa

The wave having compression and rarefaction is known as
(2) longitudinal wave

(1) transversc wave

(3) light wave (4) ultraviolet wave.

6. ﬂmﬁﬁ$aﬁaﬁ§ﬁgﬁaﬁwmwmaﬁﬁm

(1) U =em (2) &l \
(3) I (4) AT
If the distance between two masses is doubled then the tlonal force

between them will be Q
(1)  onc-fourth (2)  half CI

(3)  double (4)  four tifhe

7. U O FI HIHT U 25 cm € | T H A I i
(1) 004 (2) -
@ 4 {4)
Focal length of a lens is 25 cm. Ind er of lens will be
(1) - 004 -10
@ 4 (4

8. fau m foror fam d & ﬂﬁ qoy €

/&_ ;
' amaféa‘
faroT
sina : sinb
W gy~ B e
sih(go—a]_ﬁgw- sin{90 - a ) - feriF
3) sin(90-b) @) sin b '
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[n the given ray diagram correct relation for Snell’s law is -

Normal
‘Incident 1}'
ray A
1
1
|
1 b .
I ]
I
|
|
1
N’ Refracted ray
i in b
(1) ="~ - constant (2) S22 - constant
sin b = agn
sin(90 -a) sin (90 - a ) _
e t 4 e — = t.« t.
) sin(90 - b)) st (& S b constan

0. a v fag i ) el A R 2

3 P=T1?R @ pP=Yg
Which term does not represent clectric power ?

s
i P @

by

3) P= IR

R
10. Feu T oftgy & URT 1 AR

\

i @)

(1) @ (2) 2A (4)

In the circuit the value of curregt Iwill be
II +l=”
. b Yo v .
6 6 '
— 2 —A 3 2A 4
m A @ 2 @) )
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SAT-2 : (6)

11, JEHE FelRT 1 AEE ¢

(1) e 2 R
(3) & (4)  3gafiey |
Unit of magnetic flux is '
(1). wvolt (2)  weber
(3)  hertz _ ' (4)  ohm-metre.
12, fopdl faim @1 fai faais k=6 x 103N/m e | 30 o7 fafg 9 1072 m @R o
fepar T 1 g |
() 0003J : (2) 003J
3) 03J 4) 3J.
Spring constant of a spring is K= 6 x 103 N/m. Work done to stretch it"0 2 m
from mean position is
(1) 0003J 2) 003J 0
3) 03J 4) 3J. : O
13. fve a7 favg gt feufds S &1 o ahm
' A

® @.,0
L AN

I

HAlw plw

O

A _ 1 A
B =L == G
Uy 8 K Ug
Ratio of potential em\ ‘oflbody A and body B will be
_ A
»©@
LG~ @
_ S

. u 2 3

i B | ndl Y

W g2 @ -3
U ' U

@ 4 = 1 @ <4 = 3

Uy 3 U, @
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14,

15.

16.

17.

18.

(7) SAT-2

( T faa= )

_ ( Chemistry )
sifaiaa 3 @ d 1 IR &
(1) (2) I
@) T | (4) @ |
Example of an element among the following is
(1) Water (2) Ammonia
(3) Saltl (4)  Iron. _
I 310] § Sicrdior sl WAVl &
m 1 - @ 2 \
3) 3 4 4. O
Atomicity of oxygen in ozone molecule is O

(1 1 2 2

3 3 | 4 4 Q '
0-36 g 5 H IR Aiell ! G & C)

(1) o1 2 02 %

(3) 001 (4) 0:02.

Number of moles present i'_n 0-36 g-of %

(1) o1 ' (2 -

3y 001 N %
HIL T & ITAR A ﬂ'ﬂ?ﬁ &
(1) FEEA-131 (2)  HEwE-60

(3 (4] FARH-37, 5
Radioactive i 13 S d in the treatment of cancer disease is

(1) Iodlne (2) Cobalt-60

(3) 8o | (4)  Chlorine-37.
ﬁ I H SuTHaT 4} i 9 @

(1) O : 2 1

3) 2 @ 3

The number of coordinate covalent bonds in the structure of nitric acid.is
(1) 0 2) 1
3) 2 4 3.

NTSE(I)/ 19-20-SAT-702-B



SAT-2 (8)

19. A (Sn) §R1 WERE TS & 0 &
(1) 1,4 (2) 1. 2
3y 2,3 4) 2,4
| The pair of valencies exhibited by tin ( Sn ) is
() 1,4 ' 20 1,2
3 2,3 (4) 2,4

20. S 3T H,0 U6 HCIH W 8k FHel: & \

() OH™, ClI” (20 HZ0%, CI”

3} Hz0%, | (4)  OH~, CI*.

The conjugate bases c-)f Brénsted acids H,0 and argyespectively
() OH™, CI” ' 2) . Cl

@) H,0*, Clf @ i,

21, TR 3 4w’ &1 Tt
(1) Caso4.-;-'HQQ ¢ _Casoq"zg-?_o
@) CaSO,. H,O0 (@) CasO,. 2 HyO

The chemical fom&of ‘Plastcr of Paris’ is
(1) Cas&\@’zo .. (2 CaSO,.2H,0

. : . 3
o )

| H,0 (4)  CaSO,. 5 H,0.
224 TRt aRaeHl § sredieor sififear g
R P s Iy 2 Mg*?+2e” 5 Mg
2 4 Fe*t2o Fe*dser.

(3) MnOj + e” - MnO,
The oxidation reaction in the following chemical changes is
(1) Cl+e - CI” 2 Mg*2+2¢ > Mg

(3) MnO; +e - Mn0O;° (4 Fe*? 5 Fe*3+e

* NTSE(l)/19-20-SAT-702-B



(2] | SAT-2 |

23. N, (g)+3H, (g} jl—Mo—ézNﬁs(g)
W@?ﬁaﬁﬂmﬁl\ﬂo% . . .
(1) 3SR FH (2) IR faw (i )
(3) T-3BRE (4) E:-IORF |

- Fe |M
N, (g)+3H, (g) —M, Ny, (g)

Mo in the above reaction is

(1) Catalyst promoter (2) Catalyst poison ( inhibitor )
_ (3) Bio-catalyst _ (4} Auto-catalyst. \
24. TR WROM *f weifees fore Fooren aven e O

() F - | @ O
(3) Br | 4 L _ Q
Element having highest electronegativity in the io@ is
m rF - @ o %
(3) Br o @ L

25. ‘ThI3TH-12" ST SUEA &

(1) CE‘C13 | £2) Qz -

(3) C,F,Cly,

The molecular formula of ‘Freom, 12’ is .
(1) CFCl, K 2). CR 0,
(3) C,F,Cl, (4)  C,F;Cl,.
26. el g SEIT §
M) wd Tl e
(2) e T Tergshic
3) 3 U B grRuAH

(4)  Ufeftreh ot O eormelieli SrRUH |
The mon omc.r units of terylene polymer are
(1)  Terephthalic acid and ethylene glycol
| {2) Adipic acid and ethylene glycol
(3)  Terephthalic acid and hexamethylene diamine

(4) Adipic acid and hexamethylene diamine.

NTSE(I)/ 19-20-SAT-702-B e , [P.T.O.



SAT-2 , ©(10)

( aafa faam )

{ Botany )

07, ofe B el Ty R Y § e ana &

() SeArRag (2) . EHRRR
(3) wEEE () i

The habitat related with presence of sunken stomata in leaves is

(I)  Hydrophytic - (2) Mesophytic |

(3)  Xerophytic (4) Cryophytic. \
28. G&H v e € OO
(1) rEesH 2) ~=

@) At @
Micronutrient element is o . @%
(1) - Nitrogen _ ( | 'ncv
| (3)  Magnesium ° Q:otassium.
20, VEE g g S &

(1

) ArzEHg | K | (2) UEAEH
(3) W (4) THRmH |
Coralloid r@ nd in .
(1)

(2) Pinus
_' lia (4) Azolla.
30, TG TEU ®Y T F1 ST sy % w9 H F § 2
(1) FRHE A (2) UHE AT
@)  mEfewaT W= @) Yar W |
The root of which plant is used as medicine ? |
(1)  Curcuma longa _ (2) Aloe vera
(3)  Rauwolfia serpentina (4) Papaver Somniferum.

NTSE(l)/19-20-SAT-702-B



(11)  SAT-2
31. TR W1 F R, UG HT AT T I
1) 3:1 | @ 9:3:3:1

3 1:2:1 4 2:1L

Phenotypic ratio of F, generation in dihybrid cross is
. @
(1) 3:1 () 9:3:3:1

3) 1:2:1 4 2:1 0\

32, T e e 9 -,
m 25 - 2) 33

3 20 | - (4) 34 %

g i biodiver;ity hotspotaa@c th)rid ?

33

K (4) 34.

o & AR R A 2

33.
(2 SER
(3) 3 | (@) SO |

From which district of Rajasthan did Chipko movement begin ?
(1) Jodhpur -(2) Jaipur

(3) Ajmer ' (4) Jaisalmer.

NTSE(I)/ 19-20-SAT-702-B | - - [ P.T.O.



SAT-2 | (12)

34.

36.

37,

38.

39.

40.

NTSE(l)/ 19-20-SAT-702-B

( vt fazm= )
( Zoology )
g af&isk &1 9T, St sHfees frarat &1 FEaw s e, @
(1) e (2) - FHREsH
(3) TeTen 3 (4) g UIfct |
The part of human brain, which controls involuntary actions is
(1) Cerebrum (2) Cerebellum
(3) Medulla oblongata (4) Optic lobe.
i | WA &t B | g aren W €
(1) FERBIRER - (2) @l (3) W
The.disease caused by protein deficiency in food 1s
(1) Kwashiorkor  {2) Scurvy (3) Pellagra
T Hidl o T §
(1) Tell, &, Fe<iA ©(2) 3T, TG
(3)  Tevil, e, &EH (4) ] :ﬂumﬁ' |
The parts of large intestine are ' _
(1) Duodenum, Ileum, Colon (2) m, Colon, Rectum
(3) Duodenum, Jejunum, lleum %Jejunum, Ileum, Caecum.
U FRT mﬁﬂ grqh w®E |
(1) \ R (4) Retwd
The hormone, not secreted
(1)  Testosterone (2} Es Progesterone (4) Relaxin.
FIE A -
(1) o @ | @ sy
(3) (4) TSR |
Pseudocoe imals are '
(1)

(2) Annelids (3) Arthropods (4) Molluscs.

(1)

Protozoan disease is

(2) FBUT (3) diferr 4) TR |

(1) AIDS (2) Leprosy (3) Jaundice ' 4) Malaria.
foerft k&1 w0 9 & aren I @ |
(1) e (2) eI 3) Reew (@) |

The disease caused by deficiency of Vitamin K is
(1) Haemorrhage (2) Sterility (3) Rickets (4)  Scurvy.



41.

42.

43.

(13) SAT-2

( wifor )
_ ( Mathematics |}
aft el T & T 3 1 @ 3 W W FEE o T b &, A T A
(1) 10b+a (20 10a+b
3) a+b (4) ab

1If one’s digit and ten’s digit of a number ai’c a and b respectively, then the

number will be :

(1) 10b+a (2 10a+b \
3) a+b | 4)  ab. ' O
7 ABCU el Y &, At et 7 fot A e b1 W Ev ‘QO

4x
2x 30° 9

8

(1) 15".
(3) 25°

If ABCis a stra:ght line then 1n the given diagram will be

)
1) &00\‘ @) l20°_

L ]
v

@) “25 4) 30°
U WA & Gl 3T HION S AT B €

(1) 360° " (2) 540°
3) 720° @) 900°.

The sum of all interior angles of a Heptagon is
(1) 360° 2)  540°
(3) 720° ' (40 900°.

NTSE(I)/19-20-SAT-702-B | [ P.T.O.



SAT-2 (14)

44. 4% UF A ABCH, AB=AC3R £ A=70°%, T ~ BE

(1)  50° (2) 55°
3) 60° o 4)  65°.
Ifina A ABC, AB= ACand £ A=70°then £ Bis equal to
(1) 50° ' (2) 55°
(3)  60° (4j  65°.

45, % wh werg B @ aiRET 24 At A, A 6 et @
(1) 1643 a0 4 (2) 323 a4
(3) 48y3 @ qH (4) 643 T Q|
If the perimeter of an equilateral triangle is 24 cm, then its area@e
(1) 163 sq.cm ©(2) 32,/5 sq.cm O
(3) 4843 sq.cm (4) 6443 sq.cm.

46, % UH TN F IEEE 3000 TF A & 3R NI 8% 150 o § €,

(1) 10 @t 2)

(3) 20 @
If the volume of a cuboid is 30 & é
height of the cuboid is

(1) 10cm 2  15cm

@) 20cm @ 4 25cm.
4 an0-Scos0 aﬁTqFfﬁTH

4 ‘qﬁsmosg sec 0+ 4 coth

Ll

area of its baé.e is 150 cmg, then the

m&@ B
© 5 @3
If sin 0= 2 then the value of e’ >S50 il e
w2 @ 1
@ 3 @ 5

NTSE(])/19-20-SAT-702-B



48.

49.

50.

Sl.

(15) | . SAT-2
ﬁ?@"fﬂ@?%ﬁ%ﬁﬁzaﬁ% ez F01 ) T S ° Fran gTa o 2

(1) 15 2 20fFE
@) 107 @ 25 |

How much time the minute hand of a clock will take to describe an angle of

2n i
— radians ?

3
(I} 15 minutes - (2) 20 minutes
(3) 10 minutes 4 25 minutes.

3 a T 510 H1 T FHGEE ( T Ho Ho ) 23460 & TUT a T, ST HewH
GaEdE ( Ho Ho To ) 2%, Al a T A & :

(1) 92 ' (2) 910
(3) 52 _ 4y  500. _ C'_

If Least Common Multiple (LCM ) of aand S

and Highest Common

Factor (HCF ) of a and 510 is 2 then value of a is
(1) 92

2
%WHTHEFU'TQJ_): +4x+J_ B

(1) o

(3) K
Dlscrlmmant of\ tig'equation 2J_x +4x + ﬁ = 0 will be

1

(3} @ | 4 3.
a’}aﬁs%ﬁmﬁw%

55
(3) 60 (4) 65
How many multiples of 3 are there in between 20 and 200 ?
(1) 50 @ S5
3) 60 4 65

NTSE(l)/19-20-SAT-702-B



SAT-2 (16)

a9,

54.

55.

{ cos 0° + sin 45° + sin 30° ) ( sin 90° - cos 45° + cos 60° ) &l HIH 'a'TlTI

m 3 @ 3
@ 2 @
The value of ( cos 0° + sin 45° + sin 30 ) { sin 90° - cos 45° + cos 60° ) will be
(1) % (2) %
@ WL

aﬁ@m@@ﬁﬂﬁlﬁmﬁwﬁﬂwmmﬂwm 1 Nﬂ?qqm'
S FNE ‘
(1) 30° @) 45° O
(3)  60° @  90°.

If the ratio of the length of a vertical rod an e Qg}w of its shadow 1s 1 : 1
then angle of elevation of sun is

(1) 30° ' : _ [é} 45°
@ 60 - (4)Q\
frgall (1,4), (-5, 4), (-5, -3 30 (W3 ) o Fifirs =it &

@) 39 d B T

@)

Quadnlateral forme @& vertices ( 1, 4),(-54),(-5-3)and (1, . ) will

Square \ .- Rectangle‘_
@S (4)  None of these.
et aFt: ol % FufarTE! & @ fag dEerar %‘
(1)

(3) = én—«: @) HaEs |
The point of concurrence of three interior angle bisectors of a triangle is called
(1)  Centre of gravity (2) Circumcentre

(3) Orthocentre (4)  Incentre.

NTSE(l)/ 19-20-SAT-702-B
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6. < e Pl 7 b 06 9612 o 81 @62 & 1 ok B2 P =)
12 G &1, & =g Bt Y WA mifeaen & |
(1) 12 |4 | ) 18EH
@ o4®h @ 10%d

2

The areas of two similar triangles are 36 cm“ and 81 cm? respectively. If the

median of smaller triangle is 12 c¢m then the corresponding median of the larger

Fi

* triangle is ; ' _
(1) 12cm (2) 18cm . O\
| (3) 24 cm : (4) 10 cm. ' :
57. fed o A, Bcaﬁrmam%am £ BAO = 60° €, aa'

NG

(1) 30° .

~ In the given figur \t e diameter of a circle and P BAO 60° then £ ADC is
5 equal tﬁ&@

(1) 30° (2) 45°
3)  60° (4)  90°. |
NTSE(I)/ 19-20-SAT-702-B ' [ P.T.O.



SAT-2 (18)

s8. fga o T w srifwa &9 1 &Fe TG FIT, T ABCD I 28 WHl &1 U a1 e :
A B

(1) 784 QHt?
(3) 668 HI2 4)
Find the area of shaded portion in the figure given bu?here ABCD is a

square of side 28 c¢m : 4 Q

(1) 784 cm? ) 616 cm

(3) 668 cm? (4) 168 cm?.
59. UYY 8 IUY GEAEHIIH

(1) 9625 (2) 8375

(3) 937 ' (4) 8534

Thegn t eight prime numbers is
& @ 8375
(3) 75 @)  8534.

60. T UIH &I U aF Gl A & | 9 W Uk G5 GE&T & 3 & Wiigehar &

m 2 @ 3

@ @ 2 |

A die is thrown once. Tht: probability of getting an even number on the die is
oz @ 3 |

© 2 @ =

NTSE(I)/ 19-20-SAT-702-B



61.

62.

63.

64.

65.

(19) . SAT-2

( 3fer )

[ History )
ﬁmﬁﬁf@a 3 3 B HTF B Ew TG
(1) &H (2) HTRRHS
(3) AR (4) 3PN |
Who of the following was not the courtier of Kanishka ?
(1) Charaka (2) Megasthenes
(3) - Nagarjuna ) (4) Ashwaghosha. )
HERIEE' & E@E B AT 2 O\
(1) wweEE . (2) TowmERT O

(3) TR fH§ - () IEF | Q
Who was the writer of ‘Mudrarakshasa’ ? C)

(1) Kalidasa - (2) Vishakhdda
(3) Amar Singh (4) Sudraka.

= dig it e o w6
(1) iTh
(@) 3w ,
" The fourth Buddhist conferen 1zed during the reign of which ruler ?
(1) Kanishka Rudradaman
(3) Ashoka (4) Chandragupta Maurya

(2) IR

: (4) SHER |
Whereg e@ax-Mantar situated ? '
Sik

1) @) Ajmer

- (3} Jaipur (4) Bikaner.
fefefaa o @ #iA-dt e god et wfea g8 2
(1) dfora 3vas e (2) 9Rd BT <eH
(3)  URHA FHRE ) T g

Which one of the following incidents'happened first 2
(1) - Non-Cooperation movement (2} Quit India movement
(3) Simon Cqmmissi?ﬂr; : (4} Personal Satyagraha.

NTSE(I)/ 19-20-SAT-702-B : | [P.T.O.



SAT-2 (20)

66. ﬁm’ﬁf‘@aﬁﬁﬁ%mwzﬁwwaﬂﬁmﬁmﬁaaﬁm?

(1) TR () TEORE

() ZeRm 4

Which one of the following was not related to the Sikar Peasant Movement ?
(1) Chetram (2) Tulchharam

{3) Tikuram (4) Devlal.

67. |- aﬁaﬁ-nﬁgﬁﬁﬁaﬁﬁﬂqwﬁmﬁm@wmaﬂﬁ@aﬁmm

T o

(A) TR IRE ¢H
(B) T SR
(C) @R %A
(D) =&
.F:

A B c
(1) i i iii
(2) i iv i
(3) iv i

@) v i \1
Match List-I W1® d select the correct answer by choosing from the

given codes :

List-I List-II
(A) Loom (i) Samuel Crompton
(B) "aenny (i1) Richard Arkwright
(C) r frame ' (i) James Hargreaves
(D)  Mule (iv)  John Kay.
Codes

A B C D
1y i i il iv
(2) il iv iii i
3) v i iii i
(4) v iii il i
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68. TmeiiEd § @ HH-91 U G gofea 78 § 2

(1) 98 — UNIE (2)  whue — gRamm
(3) TR — R (4) I — TRIH |
Which one of the following is not correctly matched ?
(I) Ropar — Punjab (2)  Lothal — Haryana
(3) Rangpur — Gujarat (4)  Kalibanga — Rajast.han.
69. Wimwaﬁ‘mwmaﬂﬁd'mmm%?' ' \
(1) TSRM (2) YR O

(@) = g (4) T3 | O
Which ruler of Bharatpur is called The Plato of the JaQ:)Q

(1) Rajaram - : (2) Suraj

(3) Badan Singh - (4)
70. uﬂq-ﬁvagaaamaadﬁaawﬁ:r-'

(1) o8 g | \

@) g B afy : (4)  for @ |9 | | |
After the r.-m;l of F;irslt &_Iar, which treaty was made with Germany ?
(1)  Treaty of V @ | (2)  Treaty of Triyana |
(3) Treaty . 4 Treat},r of Berlin.

71. w& f TehT9Teh I T ? | |
(1) &l 7R fdesd (2) T (HERA @
(3) TIF= TrEd (4)  TRTET T |

Who was the publisher of ‘Samvad Koumudi’ ?
(1) Bal Gangadhar Tilak (2) Raja Rammohan Roy

(3) Da-ya.nand Saraswati (4) Mahatma Gandhi.
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¥2:

73.

T4

T

( e )
( Geography ) :
TRA o T DA A FEIEN el GRESHT Sl SmyHE WRa 7 Tl w4 2
(1) dfed Jary ae Tew (2) TSI T
(3) 3wy Tt 4) 3 for) g |

Which Prime Mmlster of India called multipurpose water projects as “The Temple
of Modern India” ?

(1) Pandit Jawaharlal Nehru (2) Rajiv Gandhi

(3) Indira Gandhi (4)  Atal Bihari Vajpayee.

(1)  dided (2) 91

(3) . HERH : (4) GEE | 0
Rabi crop is . ' Q

(1) Rice - | (2)  Gram 0

(3) Maize (4) - Soydbe

frfefad & & & Fﬁ Teh e o e Fﬂ%

(AR 2)

(3) ol |
Which one of the following is ine situated in Ra_]asthan ?
(1) Morija-Banol Degana-Bhakri

(3) Zawar (4) Khetri-Singhana.

-1 aﬁajﬁnﬁ aﬁﬁqwqﬁﬁﬁnﬁ@wwmguﬁwm{
TET HITT :

-1

s @ ) - ' (W)

-1

(A () FRETS
(B) (i) @
© FeE (i) SSHET
(D) SR (iv) Ofeet S |
F< : |
A B C D
(1) () (i) (i) )
) (v @) @) ()
(3) () (@) () ()

(4) {ii]_ G (@) (iv).
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77.

78.

(23) SAT-2

Match List-I with List-II and select the correct answer using the codes given
below :

List-I List-II

~ (Iron and Steel Industries) - (State)
(A) Durgapur , _ (i) Jharkhand
(B) Rourkela (i)  Chattisgarh
(C) Bhilai . (11}  Orissa
(D) Bokaro (iv) West Bengal.
Codes :

A B C D

3) ) (i) (1) (iv)

(4) (i) G i) . ().

frfefad & ¥ T & Haiﬁm SHHEA e el S il
(1) ¥R

(3) HAR . | ; .
Which of the following is the hlghest populatlon d 1ty strict of Rajasthan ?

(1)  Jaipur

(1) (iv) (i) (). () _
(2)  (iv) (i) (i) (i1) - O

(3) Alwar _
g R W UEE R & (6 ?
(1) FH .

@) N\ @ wwE

“New Mangalore” seN@cated in which state of India ?

(1) Karnataka _ Tamil Nadu.

| (3) WeétB : {4)_ Maharashtra.
 Freferfiga o B S8 T S @i ¥ 2

(1) igen () ueiferE

@) dffermm @ WIHfas 1 |
Which of the following is an atomic energy mineral ? -
(1) Coal (2) Petfoleum

(3) :Berylllium (4) . Natural Gas.
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79. FrAfefed ¥ ¥ o &1 i TR ¢
(1) 23°3' gdi 37 | 30° 12! g s
(2)  23° 3 uivEdl 3T @ 30° 12/ UREHt s
(3)  23°3' IeRT T G 30° 12/ I AT
(4) 2303/ el s F 30° 12/ qRIVT e |
Among the following the latitudinal extension of Rajasthan is

(1) 23°3' East Latitude to 30° 12/ East Latitude
(2) 23°3' West Latitude to 30° 12" West Latitude

(3 23° 3! North Latitude to 30° 12’ North Latitude \

(4) 23°3' South Latitude to 30° 12" South Latitude. O
g0, Frefefga & @ ®H-4 4¢T eRa PR H fRedt € 2 O

(1) @l . )

(3) @RI (4)

Which of the following rivers falls in the Afab

(1) - Tapti (2)-

(3) Kaveri ahanadi.
81, “mER” WE ? -

(1) UST % H HRIER

2 dsEqH el T qe

(3 i E&q A F § g Al gt
(4 SE
What is M ¥ _
(1) Rai ar the Malabar Coast in summer season
( m winds which blow in Rajasthan in summer season
3) fall due to Mediterranean cyclones in winter season
(4) yclones of the Arabian sea.

g2, IFRYA T T g8 @ ‘sheq g1’ el a1 ¢ 2

(1) et @
@ = @ T
Which tree is known as ‘Kalpa Vriksha’ in Rajasthan ?
(1) Rohira (2) Kair
(3) Bair (4)  Khejari.
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83.

84.

-85

86.

87.

(25) SAT-2

( Tt o )

( Political Science )

= @ S el & FEeaR! Fagi 1 99F €, 96 ©

(1) o o e (2 o Tho I

RE |4 THo Ho ARG |

Among the following who is a supporter of the Pluralistic Theory of Democracy ?
(1) J.S.Mill - (2) T. H. Green

(3) Hobbes (4) H. J. Laski. |

1% foirae o favae & sran @ sue FHuig S X g 7

(1) S (2)  Tegafd \ |
(3) T WA T (4) SR 1 O
Who decides whether a bill is a money bill or not ?

(1) Prime Minister (2)  President '

(3)  Speaker of Lok Sabha (4)  Vice-President.

gy & e fowg @t U e W Hia PR Rl W @ 2
(1) TsE @ | 2) % |

(3) UH faum @ @) | |

Who has the right to declare a subject of ‘the state list of national importance ?

(1)  Rajya Sabha "{2] abha
(3)  State Legislative Assembl e Legislative Council.

oA o R o el T )

(1) 22 2) 24

(3) 26 4 29.

At present how man ourts are there in India ?
(1) 22 2) 24

(3) 26 4) 29.
fada T!Qx—x':r Gﬂ Ffqu?iﬁ g a8

- 1 _
e, e

(3) g faumree, FEUTee!, =i

(4) FibEise, I faured, IO |

Which of the following are included in the State Government ?
(1)  Governor, Cabinet, Chief Minister '
(2)  Judiciary, Executive, Chief Minister

(3) State Legislature, Executive, Judiciary
(4)  Cabinet, State Legislature, Governor.
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88.

89.

90.

91.

' {3) Right against Exploitatio

AT & o T % A S I e P e S e A
it forar an & 2

(1) =T 215 (2) T 216
(3) 3T 221 (4)  IFTET 222,

Under which Article of the Constitution each high court has been established as

a court of records ?

(1) Article 215 (2)  Article 216

(3)  Article 221 (4)  Article 222.

YReA Gie §RI 98T a8 hiH-A1 Alfersh bR 7, S ARl Y
QR AT R ? |

(1) S &7 3HHR 2) Tt

(3) Ul & fovg AR ) -

Which Fundamental Right is' given by the Co ution of India to protect all

fundamental rigﬁts ?

(1)  Right to Liberty

The hi & Panchayati Raj system s
(1) S z:had (2) . Panchayat Samiti
(3) Panchayat (4) Gram Sabha.
Rl § HeTfsi Y = 3 18 T Fe AR &I T 2
(1) 1947 ° (2) 1955
(3) 1987 ‘ 4 1989. |
When was the minimum age of 18 years for Franchise implemented in India ?
(1) 1947 (2) =~ 1955
| (3) 1987 (4 1989.
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92. Wwﬁwmmwﬁﬁmwmﬁnmw_
fug 2 -
(1) to TR oA EE, () e
(3) T FRIGT I (4) TR ToeTy 9IS WA |

Which Indian politician played an important role to make Non-alignment as a
movement ? '

(1) Pandit Jawaharlal Nehru (2) Mahatma Gandhi

(3) Lal Bahadur Shastri (4)  Sardar Vallabhbhai Patel.

03. Wel-1 %! Wel-11 § GAfeTd FX g0 Wel e 1 U4 S : |

i 1 R AN

(a) dfeaE @ @R e () dlo Ge T@ O
(B) WM WY & AU FRER (i) Slo ' 0
(C) WreT gfafd & areger (i) © Wﬁ%
O) dour W F e A () ] |
kT

A B cC D

1) @ G @ () @Q
@ G 6 @ J*
@) ) (v 6 @) \

(4) (v) () @) ()
Match List-I with List-II cho se the correct code from the given codes :
List-I - List-1I

(A) Permanent N of the . (i} B.N.Rad
ssembly

(B) Le of the Constituent Assembly (i) Dr. Rajendré Prasad

(C) ®0f the Drafting Commlttee (ii1) Sachchidaﬁand Sinha
(D) Temp®rary Chairman of (iv) Dr. Bhim Rao Ambedkar
the Constituent Assembly

Codes : _

A B C D
N VI ) I
(2) i () (iv) (i)
(3) (iii) (v) (i) (ii)
(4) (v) (@) @) ().
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( 3retyTTE )

({ Economics )
94, Ul sreiegaen arel UL
() &8 (2 A
@) e (4) o |

The nation with a capitalist economy is

(1} Russia (2)  China
(3) Japan (4) Bulgaria.
95. 5 SHIfl 1 FEY & |
(1) 398l & IcaeA | 2 TUFHIORAY \
(3) I & 39T @ (4) TEA % IR 9 00
The White Revolution is related to \‘ >
(1)  Production of eggs (2) Productim@
(3)  Production of sugar (4) Product ce.
96. HRA H ULH 3 HI TN FH drell T &
(1) FEEafEE EeT (),
(3) &= R T |
The institution calculatin i n\gomc in India is
(1) Central St-atistical rganization
(2) Finance Com@ﬁ
(3) Central \
(3)  NITLAs b
97. fan 1 T g3
(1) 1 SPEd, 1935 (2) 130, 1935
(3) 1 5Fad, 1995 4) 1 3, 1995.
The World Trade Organization was established on
(1) Ist January, 1935 2) 1st April, 1935
(3) 1stJanuary, 1995 ' (4)  1st April, 1995,
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99.

100.
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WRA § YRR 1 FRO &

(1) i 3 7 v g (2) TR ScRA H o g
O) WS o O W (4 W o & 39 W
The reason of inflation in India is

(1)  Rapid growth in agricultural production

(2)  Rapid growth in industrial production

(3)  Low level of public expenditure

(4)  High level of public expenditure. . :\

TR T HAT G & |
(1) WEHR (2 @ WEd O

(3) aroas S (4) s | VE)%

The institutional source of credit is %

(1) IMoney l'egder : (2) 4 Sgiiibelp group

(3) Commercial bank Q

IRd H, 3U9RHEI §RT UF I \ ".a%'aﬁaﬁmaﬁﬁwmm

(1) @EGRAH @ PEmwREd -

3) T~ AT @) T Sus ERE S |

In India, cas ods more than one crore of rupees can be filed by the
cons e@

(1) & Forum

(2) District Forum

(3) . State Commission

(4) National Consumer Protection Commission.
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